
For ease of delivery, a furniture store is stacking chairs. There are 6,144 chairs, 

with 64 chairs in each stack. Calculate the number of stacks. 

3)

A company allocated    2,470 for newspaper advertisements. If each 

advertisement costs    95, how many advertisements can the company publish?

2)

How many 42-sheet notebooks can a company make using 5,250 sheets?4)

A dairy farmer transported equal quantities of milk to 11 dairy processors. If 

the farmer transported 7,150 barrels of milk in all, how many barrels were 

delivered to each processor? 

1)

5)
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A business has 38 delivery drivers. One day, the drivers delivered 3,040 

packages in total, each driver being responsible for an equal number of 

packages. How many packages did each driver deliver? 
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